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QID : 601 - Adolescence is marked by development of the faculty of

Roll No

QeIQzeal § Q ANy @ TR FIl FFC QAN

Techofworld.In

Options:

1) abstract thinking
NGy TSI

2) visual imagination
Q44 Qaq!

3) motor development
£QITQ G4

4) hand-eye coordination
QIO AEQ &Iy @ ATQD

Correct Answer: 1) abstract thinking
ey §a

Candidate Answer: 1) abstract thinking
QiIey o2l

QID : 602 - Based on individual differences, Jung classified people into groups.

QBIL GRS ZRIAER IRETR G BRIF ARG Qe 60 A6 FALER
Options:

1) four
QUG

2) three
22

3) seven
Qe

4) six
2l
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Correct Answer: 2) three
ale

Candidate Answer: 4) six
22

QID : 603 - According to , child development occurs in a series of stages focused
on different pleasure areas of the body.

@ 2gAER ARy 9 4919 Q TER UG QA €AY JEFER EFLS 9 G 62 6TIRANI

Options:

- .. Techofworld.In

ARG IQAU

2) Sigmund Freud
daga 6ge

3) Erik Erikson
G 1Gee

4) Jean Piaget
& deleslq

Correct Answer: 2) Sigmund Freud
daga g9

Candidate Answer: 4) Jean Piaget
&g deleaq

QID : 604 - is the period between age 12 to adulthood when people develop the
ability to think about abstract concepts.

60606Q6% 6AIR FII6R FAIRIA 2RXIRYI §Fa 060 531 @FQIa 8e0Ig 8086 @08 62606267
6208 99 ANG 6IGY6R 12 oF Q0Q @ YUAG! AB6R Q1 AN 2AQY 266

Options:

1) The Sensorimotor Stage
6Q°QATEAICR &g

2) The Preoperational Stage
geQel 294l

3) The Concrete Operational Stage
QO UACQLRIM AL

4) The Formal Operational Stage
Aa9I0e 2UERAFIN 2R

Correct Answer: 4) The Formal Operational Stage
390104 2g6dRIR &gl

Candidate Answer: 3) The Concrete Operational Stage
QS AUCQARIN 2AXQ!
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QID : 605 - is the period of time between birth and age two during which an
infant's knowledge of the world is limited to his or her sensory perceptions and motor activities.

9% 6 99 9F QU SS6Q QI AR 26T, 69Q ATACA R A6 Y Q VIS FI2IQ
Q°6RRRHIR 2RI 8 6IF @Iy adye AIFe 26e!

Options:

1) The Sensorimotor Stage
62°QRELICR 2Kl

2) The Preoperational Stage
geeal 2egl

3) The Concrete Operational Stage
RGE AL 2D

4) The Formal Operational Stage
GUQI0R 296QARIR 2]

Correct Answer: 1) The Sensorimotor Stage
62°ARECIT 2Qg

Candidate Answer: 1) The Sensorimotor Stage

Techofworld.In

QID : 606 - The transition between childhood and adulthood, a stressful period of life
characterised by discernible physical, mental, emotional, social and behavioural changes is
known as:

IRIEAR B 6QI6HINAY HOER ARRRR, F1RFA ¥a 921G AN 26T AIAF FI91aR, AIRAR, AT G
LLIRTS DFER AR 62R2AN, QIR QUER RSN

Options:

1) Student life
219 9199

2) Adulthood
QELC!

3) Adolescence
6@l6dIa a9
4) Youth

ga

Correct Answer: 3) Adolescence
6Rl68IR F1ew

Candidate Answer: 3) Adolescence
6QI64I Q1w
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QID : 607 - Who proposed the sociocultural theory of learning?
@9 391 91N AAIRA]E 6 9IS 6RREM?
Options:

1) Erik Erikson
5q 90ge

2) Albert Bandura
2IRIS QU

3) Lev Vygotsky
ERG 6RNIERIS,

4) Jean Piaget
Fq Ja16eq

Correct Answer: 3) Lev Vygotsky
M@ 6QYI6TIIG

Candidate Answer: 3) Lev Vygotsky

Techofworld.In

QID : 608 - Socially, adolescence consists in shifts from dependency to

AAIFR QU6R FEAQAA FERS! @ A4S AR 6Q 6TRANI
Options:

1) autonomy
qalla

2) slavery

Blala

3) subservience
Q49

4) indifference
AR

Correct Answer: 1) autonomy
galmy

Candidate Answer: 4) indifference
il

QID : 609 - suggested that parents, caregivers, peers and the culture at large
were responsible for developing higher order functions.

geia 69R26m 64, FISIT6!, 699 QAR 4P, AXRET 3 98 AR A°YET A 2EXS FIY
09 3ede @R9l IR @Id 268!
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Options:

1) Erik Erikson
6@ 96ee

2) Albert Bandura
2AIRS QA

3) Lev Vygotsky
A 6RYIETN

4) Jean Piaget
@q daleag

Correct Answer: 3) Lev Vygotsky
M@ 6R1I6IR

Candidate Answer: 3) Lev Vygotsky
Em@ 66T

Techofworld.In

QID : 610 - The Government of India, in the National Youth Policy, defines adolescents as
years.

QIS AARIRQ AIFIL J MPER Q6N AT ed gasa aGRIde aaa!
Options:

1) 10 to 24
10 @ 24
2)131t0 19
13919
3) 1310 23
13Q 23
4)121t0 16
12916

Correct Answer: 2) 13to 19
1319

Candidate Answer: 2) 13t0 19
13919

QID : 611 - are those that occur automatically and reflexively, such as pulling
your hand back from a hot stove or jerking your leg when the doctor taps on your knee.

Q12! 62IRAN, AILF ACIFG QUEA B YEIR PUER 62IR2AIN, A2l FF 2 I
691Q @ 18 218 Ag) 2198 AT 206Q GUIT KRR AAAER 2D 6AITR! QSYIE
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Options:

1) Operant behaviours
QEIND QUL

2) Respondent behaviours
YoFLIEIR QLI

3) Imitations

aam

4) Observations

Fonaél

Correct Answer: 2) Respondent behaviours
JEQASIR QSTIR

Candidate Answer: 3) Imitations

TechoﬂNoHdIn

QID : 612 - Asking a student to run around the school playground for coming late to school is an
example of

@66 818 M 69 IRE 6 2T 6QIF] YR B 657 AT SIRAER 6N AR GG Q
R Q@129 2G|

Options:

1) negative punishment
Q@RS 91

2) positive punishment
ARAUAR @&

3) negative reinforcement
QAT A&l

4) positive reinforcement
AR AR €AIFE

Correct Answer: 2) positive punishment
AR @&

Candidate Answer: 4) positive reinforcement
AR AR €AIFE

QID : 613 - is based on the assumption that all learning occurs through
interactions with the environment.

9@ MIQ4I QU6 2RIGE 69 ACY JVE QLIRS R2UILIG FIRIFIES 61NN
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Options:

1) Behaviourism
ol

2) Constructivism
QPRI

3) Cognitivism
€QIRISRAIQ

4) Humanism
ARl

Correct Answer: 1) Behaviourism
2Iead

Candidate Answer: 1) Behaviourism

mgTechoﬂNoHdln

QID : 614 - Unexpected academic under-achievement, or achievement which is maintained only
by unusually high levels of effort and support given a student’s age, schooling, and level of
intelligence are called:

QORT 2896 2gUIEe SAl A9 RUAR AITIR 6A9R BIGR U, A 6Q 62RR FAI B QRAGI IR 69
AAIFIRY QU6R QP BA6R Y69F 8 ANER FIAI AFIL AYRIG QIR

Options:

1) Neural discomfort
Qg ARG AR

2) Subject failure
TUAQ FTRE!

3) Systemic failure
EIRIGS STRG

4) Learning disabilities
a9l aQqeiel

Correct Answer: 4) Learning disabilities
a9l 2QAee!

Candidate Answer: 4) Learning disabilities
dal aQeeiel

QID : 615 - A disorder which is usually characterized by a significant discrepancy between higher
verbal skills and weaker motor, visual-spatial and social skills:

4@ 8919 KI2IF ARG A YR 6F1R 8 QIR 67169, QI-AIRR 8 AAITR 6T9IR §66a 1@ ALY
UR0l Q J68a9Q

JoinUs-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:

1) Attention-deficit/hyperactivity disorder

I} 2QIQ / AGU R

2) Non-Verbal Learning Disabilities

A0l @F dgQl6a 2QNR

3) Central Auditory Processing Disorder (CAPD)
6@919 g4 6916Qd° xla (CAPD)

4) Language Processing Disorder

RV JFARAS TR

Correct Answer: 2) Non-Verbal Learning Disabilities
IQ 9% dgQI6Q 2QN3

Candidate Answer: 3) Central Auditory Processing Disorder (CAPD)
6@51% §94 6g169d° Iala (CAPD)

Techofworld.In

QID : 616 - According to Bandura's research, which one is NOT a factor that increases the
likelihood that a behaviour will be imitated?

QAR AGANIR 2AQAIER, MLTIER AN FAUDRIR ARG G AlIn FF6R FALRYR| FUQ 6RRE 1D
QR 9697

Options:

1) When you have been rewarded for imitating the behaviour in the past
GHECEREN IUET ABITER QRN & Fam G?@EJQ\ IR JoIYe @olldlwiml

2) When we lack confidence in our own knowledge or abilities

66C6R6R 2IF1 O6 GO6Q BIQ Q) AFSI 6Q ARG Q QIR (Sl

3) People who admire us or who are subordinate to us in social status

699 6RIR FII6R ZINQ YA°a RRI6ER @Fl 694 FI6E AIFR A6 AR AR 26R
4) When the situation is confusing, ambiguous, or unfamiliar

669696R €0 99, 2] Aq) 2ARFS 621RYQ

Correct Answer: 3) People who admire us or who are subordinate to us in social status
649 6RIR C1I6R AR JAE FQER @Yl 699 F1I6R AR FGER AR 2RY 26w

Candidate Answer: 3) People who admire us or who are subordinate to us in social status
642 6AIR FII6R AR ga°dl @gejem =l 691 FI6R AIFS §F6a 2IaQ gJad gem

QID : 617 - A child watches his mother folding the laundry. He later picks up some clothing and
imitates folding the clothes. This is an example of

601IGN IRl FeQ AI'g K9P RUGLFIR cagnIl @8 AFK6R 62 @8 @Y7 q QE0R VTR PR KAN | 4L
QIR QIR 26T
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Options:

1) discovery learning
2QANNS &GS S8l

2) intuitive learning

QLR B8 Ja dal

3) observational learning
AR G4l

4) classical conditioning
Qdeim dal

Correct Answer: 3) observational learning
AQIREYS SQl

Candidate Answer: 3) observational learning
AaIREegs Sl

Techofworld.In

QID : 618 - Who proposed the theory of Trial and Error Learning?

SINR 6 909 dgia JTIB @ S B9 CARYYER?

Options:

1) Alfred Bandura
2AINETS Q9

2) Jean Piaget
@q delese

3) B. F. Skinner
Q. 9. A6R0

4) E. L. Thorndike
Q. IR, 6aAIQ&E6R

Correct Answer: 4) E. L. Thorndike
Q. 9. caledea

Candidate Answer: 4) E. L. Thorndike
2. 9. 6alIesea

QID : 619 - indicates that in any situation of learning, people are actively engaged
in making sense of the situation — the frame, objects, relationships — drawing on their history of
similar situations and on available cultural resources.

Q°6@e 69921 64, F9IQ 6a161T C1al F6Q - 657, 9L, YR - AAIR AAIE QFR6a Faa
QG2 QA6A UIF AT 6 QANT AYEFR AR LA6ER 6RIR AI6F AFR QU6R TF 6Q NI AFIR,
QAYRER QUGG
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Options:

1) Learning as construction
a8 Quea dal

2) Learning as meaning making
28 9IRS QUea Fal

3) Rote learning

Qeal 88l

4) Formative assessment
QEAIAR RIS

Correct Answer: 2) Learning as meaning making
218 QAIR81 a6a agl

Candidate Answer: 4) Formative assessment
QAR RUIR

Techofworld.In

QID : 620 - According to which approach "the role of the learner is conceived as one of building
and transforming knowledge"?

62Q QR6RI¢ AR "ANIFR AR Q FIE 6 RIS § ERIRR AUQ 601G GO FAER FFR
QAULIREYR"?

Options:

1) Humanist
AR

2) Cognitivist
QORI

3) Behaviourist
QLI

4) Constructivist
QARRIQM

Correct Answer: 4) Constructivist
QPRI

Candidate Answer: 1) Humanist
AT

QID : 621 - Who popularized the project method of teaching?

@9 GQI @ 691699 Y § RN FEARAER?
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Options:

1) William Kilpatrick
QNI FAYITR

2) John Dewey

aq deg

3) Dillenbourg
eRaQG

4) De Vries and Slavi
@ 919 8 Q@

Correct Answer: 1) William Kilpatrick
QAN GG

Candidate Answer: 1) William Kilpatrick
QAN GRAITR

Techofworld.In

QiID : 622 - is a list of planned learning experiences offered to the students
under the direction of the school.

YR @ FERIR 66 818 NG TR 6AIFFIAE T8 AFRER IR JO1 2657

Options:

1) Learning objective
S QR

2) Learning outcome
2R ARG

3) Curriculum
pllellaley

4) Syllabus

QIOYQA

Correct Answer: 3) Curriculum
Q10491

Candidate Answer: 3) Curriculum
Q10491

QID : 623 - An is designed to determine a student's potential for success in a certain
area to help them determine which types of career they might be best suited for.

R @ IR GE6 689 66 ATFE! AR IR TIQ @ VAGI @ FFIRY AR ALY FAS AIR
29199 KAL), ALl AR 1L FFES AAUAAARR 64 609 JRIAQ MIGAR AF0IQ AAYS 6TIRVIEA
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Options:

1) achievement test
QURE ao1gl

2) aptitude test
QILI 1A

3) intelligence test
QEAGIQ A

4) auditory test
g8 a1l

Correct Answer: 2) aptitude test
QIeeI A1l

Candidate Answer: 3) intelligence test
9EAGIA aNal

Techofworld.In

QID : 624 - In which one of these approaches, students receive information transmitted from
teachers or other sources of information and memorise them?

Fa6a GRIRIRYQI AUQ 629 QRERIF, 813 FIER d9R @¢ ARYIRY 6919 0Ig B0IINARI 9oF! 96] 919
@Q2IB 8 6AAIFT 67 QFIT?

Options:

1) Teacher-centred approach
J9@ @40 Q66

2) Learner-centred approach
ag1el 6950 98ea1d

3) Subject-centred approach
Qg 650 Q618

4) Learning-centred approach
a9 6850 QR6QI8

Correct Answer: 1) Teacher-centred approach
A9Q 6059 QI6RIE

Candidate Answer: 3) Subject-centred approach
Qg 640 Q3614

QID : 625 - In which one of these approaches, students learn through experiences and reflection
on learning tasks make meaning and construct knowledge ,thereby gaining conceptual clarity?

FIRYS FRIQ 629 QAERIG FRIQ 631G, 81 AI6S FYR AIdY e 2GRS B 9ERY ARIFER AgaII; 2
QITIR KALIRIE 8 BIG G346 QRaIRIE, AIVIFTIQI ARSI 1T 621Q2IN ?
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Options:

1) Teacher-centred approach
S99 6050 98614

2) Learner-centred approach
daiel 6256 93614

3) Subject-centred approach
Qg 6a5% 9I6IS

4) Learning-centred approach
G991 6850 QF6RI4

Correct Answer: 2) Learner-centred approach
dgiEl 625% 9q6ea1d

Candidate Answer: 3) Subject-centred approach

Techofworld.In

QID : 626 - is a democratic method involving student participation to consider
various facts about the topic under consideration, which stimulates students' thinking process to
analyse and present their ideas and facts clearly and fluently.

4R 6RIRRIAR IRl 266 6IRTYER ITIRYE FTL FBNER JaR 024 AJ6R GoIR KRG
QIR 818 FINEA AR ATR 266, TR 819 AT 8010 JFA Q F6494 QAR 6 FITa FoIa B G2y
@9 98 6 ON AER 9LEe ARSI Alel LTS SR

Options:

1) Demonstration
gede

2) Group Discussion
de)@ 69 AR

3) Seminar

6aiaIq

4) Lecture

QIS

Correct Answer: 2) Group Discussion
e 65 AICMD

Candidate Answer: 3) Seminar
cadiqial

QID : 627 - is a student-centred method of teaching involving spontaneous
acting of roles in the context of clearly defined social situation(s) by two or more persons for
subsequent discussions by the whole class.

Qg4 VIFER ACRIFFI AIR G2 A RIS MBS TI9I 9% QAR AFNUTS ANGR 3G
QREsa @Al gPea AR AIdIRIR A6 ATR g2l FTE Q IR I8 6R5F IR 26T
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Options:

1) Symposium

GQIQ 6911

2) Seminar

cafiqia

3) Role Play

el 69,

4) Group Discussion
)2 69 AICMA

Correct Answer: 3) Role Play

Qa1 69,

Candidate Answer: 4) Group Discussion
Qe)@ 6Q MO

Techofworld.In

QID : 628 - In a/an curriculum, learner is placed in the natural setting of the community.
@ QIOYGE 62 FGARI Q4B ATIP Q YIgER 69G° 6Q ASIKIReN|
Options:

1) competence-based curriculum
AASI 2RNFS AIOUGE

2) experience-based curriculum
2gEQ ZRIFS AI0YFE

3) subject-oriented curriculum
QEA ARG OGS

4) learner-centred curriculum
9121 6Q5e AI0IGS!

Correct Answer: 2) experience-based curriculum
2GRS ARIFS AIOYFE

Candidate Answer: 1) competence-based curriculum
[ 2RIBS aioige

QID : 629 - When a teacher constantly makes decisions about teaching materials and methods,
based on a number of factors which include the subject matter to be covered, the needs of the
students and the overall goals to be achieved, the teacher performs a role as a/an:

Qa0 9¢ § AR FAUTAG &N 2A6RR RIQAR G URINER CL6066R @64l FFF FAG AIFGN G T FUAER
GAIGE QIR Fa F2E, 6069 BIg AINFA TR G 2R FERIY AR AAY AW AN IR F6E
REQ PRI 927 @RI
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Options:

1) Motivator

alala)

2) Instructional Expert
IQERAINR F6IaR

3) Facilitator

QIR

4) Manager

gese

Correct Answer: 2) Instructional Expert
AUFERAIND QTR

Candidate Answer: 3) Facilitator

qRuIR
[echofworld.In
QID : 630 - mode of learning is activity based, where the learner learns as a

result of action process.

g9l Q Qe QIY ZIRIFE 26T, 60I6a YR Q48 FITIFFAIR QRSN I9a Sl
Options:

1) Enactive

faq Gdia egea
2) Iconic
ADRTR

3) Symbolic
A6=oR

4) Interactive

oo [lallal=)

Correct Answer: 1) Enactive
Faa Gl agaa

Candidate Answer: 1) Enactive
Foe Gdle aqe

QID : 631 - 62% 98945 2% gIIIfe ARG AR 2 ENA? i) S48 2RIy Se0dy @ad aYE o
QU6a alie T2 ii) FE eIy FAN AATER 6R6E 2R HIEF|

Options:

1) 629 i.)
2) 6299 i)

3) @94 i) G ii)

4) (% 9990 9@ 99 Qlal aRY|

Correct Answer: 1) 689%i.)
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Candidate Answer: 2) 6@ ii)

QID : 632 - @68 SQuidl1 48igeI Q2 QRAIGRIQ QW7 @ G6¥, Q1T AIE KFQ IR FEIS (AR 6RAT @
Q99 QAIA AR AAGES?

Options:

1
2
3
4

6RIR NFAART
698 AR1TR
adieeas
adyisRIeql

—

Correct Answer: 1) 6Q% 99945

Candidate Answer: 3) QdYeaasl

Techofworld.In

QID : 633 - @Al 2gQlee Qq@ QRQI 6Q6R, 2348 gEAIFR1E QIGEe 9608

SeRe’a Qg ARIe
Go9 deq dele

dGe
6a
dGeaqqa dale
QUERID AN §ag

3
4

N
o = — —

Correct Answer: 2) 645% d@q daig

Candidate Answer: 4) QU6QI8 9712 9a9

QID : 634 - 996073 &° gIQ Q2 K99 621NN, 6606967 @ N6AqdR AE° gl
NGE @99 6TIREIN|

Options:

1
2
3
4

RAUFA, FUIER
QYI6Ql, ARG
6815, A4

QSR 69159

— e e et

Correct Answer: 1) RUgQ, G4I8al

Candidate Answer: 1) RIFQ, FYI6Ql

QID : 635 - G694 QU 6FEI16Q 2RI1°F AT Q@ Jagsa gII@N|
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Options:

1) 9616962949

2) AeeIde)

3) ¥gseqda

4) R68039

Correct Answer: 4) @64Q3%)

Candidate Answer: 3) 9969949

Techofworld.In

QID : 636 - QALIYIER 6AIR 655F FUIER B2 AGIRING @FN|
Options:

1) 6659 ARTEFE

2) 6999 &xo9

3) 6g&°
4) R6QS 6RERANTENS

Correct Answer: 2) 6539 &@96

Candidate Answer: 2) 6999 466

QID : 637 - 6¢1lg@ QULIAR| T¢I 9R4IR 6Q FEIB FUIQ 6RATY ZBPS FFERL?
Options:

1) ANIGRIR

2) GRQIRaa

3) AI0YQ NUNIGIQ

4) QUL ANB 3

Correct Answer: 4) QAR A0 G0

Candidate Answer: 4) QJsQI2 A2 GaF

QID : 638 - YFRFIR 1S° IASFILR 6RAYS! FIY, FEAIS FRIQ 699 YRR IRIFFR 2SS 62IRAIN?
Options:

1) 2§-661gR RIISS

2) AYS RIS

3) 6dlg@ aoIaal

4) a°Rg G4

Correct Answer: 2) @ge gaiieq
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Candidate Answer: 2) Qg6 JaUISR

QID : 639 - IR 6AICETINGER FEQIB FRIQ 6a& AIAYT AR FAVRARS?

Options:

1
2
3
4

geda fIeeg

A°Fe T4

611ge QULITRIN 6aRE°
QUERS ALY Fag

—_— e

Correct Answer: 4) Q96 A0 Ga4

Candidate Answer: 4) QJ6QI2 A7 Q9

TechoﬂNoHdIn

QID : 640 - RS JRIFIER TSI I GG’@QGI ATR RRUAQARL?
Options:

1
2
3
4

QEQ 696 ARASIR 2R
8eal

qI0¥a NG}

QI04y 2IRACT KRGS

— ' —

Correct Answer: 1) Q@G 69Q16Q A12ALIR SAULR

Candidate Answer: 3) QI04Q QILIGQIQ

QID : 641 - ‘(] ALIRINEQ 09, Id4 9e° FAQ AG T9GER 62ERIQ QAAN |’ IF GVER 674 AF g
QIRLO 6LIRG?

Options:

9
Jaa16 98
QAIEERIR GRIRAR 98

Correct Answer: 2) QaI3 9@

Candidate Answer: 2) 9aig 49

QID : 642 - 0% @8Q 92 §LIRIQ 4ol @ag! 2Ise 2iF ARIRER FRAGFY 9
Q% WSEa OF ake!l
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Options:

1) 2digl

2) gQuI

3) @caan

4) Geaq

Correct Answer: 3) Q6249

Candidate Answer: 1) 2i2gd

Techofworld.In

QID : 643 - G6R 604 JaloR A1aY 9UIF QOIKIRE G121 983 @9g | 967 @'d 63Ig8?
Options:

1) QAR QY

2) edldie QIay

3) G0@ QI
4) 99 9o Q1Y

Correct Answer: 4) g¢ 99@ QIa4

Candidate Answer: 4) 99 4o@ QIaV

QID : 644 - O] GQF FIQI RIS Jod G|
QAT 6A7NER Faa JEIGAIR A8 9ASI AR TIATER 8 AFY 6AFER AVAGES,
46, ANGER 9T @98 |

Options:

1) 07-QdQ O6%
2) QUQ-2CQ U8F
3) q-0R AwG

4) QUQ-9% 986

Correct Answer: 1) 99-90a 983

Candidate Answer: 4) Q99-97 986

QID : 645 - G6YIR 629 PG KRR VNI AULT YN AYS ?
Options:

1) @@l

2) Q1961

3) Gae

4) QU6RIS A7
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Correct Answer: 4) QU638 AAL

Candidate Answer: 1) @9

QID : 646 - @9 RIEA UIF @T NW6S TRTE ?
Options:

1) g6 QI8

2) TR0 BRILR 69RIDG

3) JErRIS 6712Q
4) 6QlITNGIe A1

Correct Answer: 3) QIENAUQ 6712Q

Candidate Answer: 3) QIGNIQ 6718Q

QID : 647 - g6QR 218 608 HeQ FITFR gaq raIe@
Options:

1) Qg

2) Qg

3)aqe

4) 2101

Correct Answer: 3) QgIQ

Candidate Answer: 3) Qqi@

QID : 648 - 679 QAKYIA DI 197461 6FITIRIA ALBF MIFIAI0 JRIQ FARIRYR ?
Options:

1) 2o delF

2) A6 aIeIR

3) TGl
4) 3e QR

Correct Answer: 2) <& agi®

Candidate Answer: 3) 99l

QID : 649 - QRIGRID 6291A AITGY IRIERE! YQia geay ﬂﬁléﬁi QIFE 6@8 QARYIA IR SaRIRAR:
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Options:

1) QBIEEIES a9l
2) YRR AFLIQY
3) QIR S5

4) e6dle

Correct Answer: 4) Q1Rede

Candidate Answer: 3) Q1515 898

TechoﬁNoHdIn

QID : 650 - TR 6AILR 6ARIVGG &4 “6EEIR 69109 " 91 ca6m ?

Options:
1) @991 9891
2) GQ9. 69, &l gRe]
3) GQa. IR

4) QRIKIE QUG

Correct Answer: 2) @Q9. 6. @. 9R6q

Candidate Answer: 1) @099 @QQIR

QID : 651 - §96@ 9919 KAULIQIYR! AGYIPI5T 9FF 1a° G 999eFaa aa Gag!

¢RRIQ FURIG AIF6Q g9l AR 984 69 62RAMII @67 @BAIR AP 92 6ATF 6N © 6210 AFARI| AIRE
Foea 980 ARl ATAAIFER QI U6 A’ 6298 62 RUEA

Q2 g A6QIGIF 6T0R QITIARIA SRAIQ CASIAIRERI- 64 SRR QIFESH; J2l FITYSR; ST H
62R86R| AT 216 AA6Q QAR ¥&° AGEIRII 6T6R 6T6R 64 6ATYRAII F66 ARG 62N 6Q EAYAR
667 G966 QU ATRI FIF YRR 2RI 6AGI 621 5O 265 676mI

6908 QIPER o9l F0G 6RYRI YL° AT QUCH FINER JRIRRI @F SUEFEER 62 QIFES F84Ig
64IRQIg S, 69 96 NIFEA YIRI AR 64, OI'A VIR YR YR AAILRER @ AL 9D A6Q QT
AYYR SINTIN NG° 6TTR 627 FENE 2AA 621G AAL EFRAIRYRI| 62 6IYR 2ARAIFER AT AT
ARIQEQ 2, SIR ABF 620166 IR LRSS

6I6G6R6% 64 B8 611061 §0aq 19 IRIARI, 6OHN 602 AUER O G191 CRIRAG- 6AITRER SR Q7 @
Oadl 20089 28960 SAMIKIRE 9a° 126a RS Vst QIFE1 62 QA ILIq OFRII QAR AaRel 9 0Qd
adie 0099qg 6RYSI ARG AYER

Qe 921 618G 6915 §0 6RYQI 9860 PRI RERE &'€ AmI?
Options:

1) @59l GIFQ OF 6291q SIFAR

2) @37l QIF QALY FEAIG FILAR

3) @fal oI A9l ATl YIFYR

4) 6Q 6297 OIF AYITC KA 1LY

Correct Answer: 1) QGQI GIFQ 9 62919 SIgaa!

Candidate Answer: 1) &%l QIFQ 9F 6291§ QIFAR
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QID : 652 - GC6Q JQIP @AULIRLS! IIPITY UL N8° 67 9I9ean eaq Gag!

FARIP FARNS AIG6R Y AR Y 60Y 62RYRI| ¥6Q QTAIR AYI 9T 6QFF 6HIR § 621N AR RIQE
TR F99 YRl 2ARAIFER 29 A6R '8 6208 62 *UEAI

Q2 gQ 6QIIS 690R9 QITIRRIC FORIQ 6AHITIRYRI- 6Q FIAR QIFAER; 2 RIFAEK; GR2UG A
69ag6RI BT 210 AU AR IS ALEAURII 6I6R 6I6R 64 EALYARII F6q AT 6TRI1 62 EALYAS
6965 G6E QOA NZRI QIF 2SR 21 6REl 621REIF F0 S65R SR6R

8909 QISER @Tal F0G ERYRI I9° AICE AICE VIRER UNIAMNI| B 6J6FEIER 64 ABER FBEIF
641RQIg SR, 69 9@ NIFER YIARI @R 64, F'Q IR YIIQ YIQ AAILFER @ ARG | IR A6R QIR
YR SIRTN IS 6TER 6297 FENS AR 621 AAG 6LRARANI 62 6LYR 2AAAILER 2R AT
2RIA6R T, SN AGTI 6L QIR AINBT1

6U60ERER 69 OF 6RO F90Q VI IR, CIYRI 682 AUER GO 991 6LIRT- CAITRER GI'R FIA G
ORéll 20009 2RRER CAHIKIRE 99° 126Q A A AIFE| 62 OB 121G AGRI 62AI6E 9Qa8! 9 od
adie 9999q ERYS 2ANILG AYER

2AAFER G2 A6 (F2)Q B QIY @' gmI?

=~ Techofworld.In

1) 64 QIR QIgasml

2) g4Q AR AR2 HAIER 6ARER

3) 69 G AOL AFA NS° EAYLIER FTIRGER
4) QUERID PG AN

N e g S

Correct Answer: 3) 64 Ge Q79 9891 92° 6RYIER QIR2IEM I

Candidate Answer: 3) 64 & QG 9@Q IQ° EAYRIER @ISR

QID : 653 - 69 9918 SAULINYQ! GUPETY deg Me° B g49Ean eaa Fag

FRRIQ FANIS AIGER AR VAR Q84 69Y 62RYRI F62 QFAIR AP AF 6AAE 6HIN @ 6TIR ABYRI| FIAG
TR A9Q YNl AAAANGFER &9 A6R K€ 6208 61 AAEAI

Q2 gQ Q6QIHIS 63087 QITIRRIC CRIQ 6AHIYIRYRI- 62 CIAR QIFAER; G2 KIFAER; SR A
69ag6n| T 218 AT6Q QAN IS AQEARII 6367 6I6R 64 6RYYARI| F66 ARSI 62RI1 62 ERYAR
6965 G6E QOA A1TRI GIF SR 2l EREll 62IREIQI F0 SEGR SR6R

690G QIG6Q QoI B0TI ERYRI NG° QIR AIEE VIRER IRIANI| @3 666N 69 QIP6E I8dIg
691RQ1 AR, 64 9@ VIFER FIARI @RI 69, G'Q AR JIIQ YRIA AAILRER @ ALY | IR T6R QIR
RYYS FRAGRI YG° 6TTR 69RG FEAE QT 621 ATE CTIRANYRN| 69 CAYR AAAAIYER 2 AQET
AVIAER AR, IR AGF| 6QFER FIR AIRLE

6d606Q6R 64 % 6R1091 G00q dIF JRIAMI, 69gM 602 QU6 §0 99l 62IAE- (0ITR6a QI'Q KIF G
O@dl 20556 29060 EAHIAIGE Ye° 126R FIN1G B¢t QIGE| 62 9a8 12Iq AFRII 62716 99QE! 9 0Qd
adie 9eQ0q 6AYRI 2MILE AYea

F6QIS IR 6865 “QRI” 90 gEaR?

Correct Answer: 2) 2Q6q
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Candidate Answer: 2) 2Q6Qlx

QID : 654 - GF6Q 9917 @ALIRLR! PTG 999 Ie° §F g496ea eaa g

¢RRIQ FORIG AIF6Q e ARR L84 60 6LReRII @67 TRIR Ogl 9F 6ATF YR 6 62IR ATYRI FIQE
TR A9 AR ATAAIFER Y9 V6R V'E 6208 64 AACA

92l 9o T6RIFIE 6308 QITIARIA SRR 6QSITIAZMI- 62 SRR AIFYEA; Y2 VIFYER; SR Sl
609g6M| ST BI0 ATER AYYRI NS° OQERI| 696F 6I6R 64 ERYYRI| D67 ATAUIGT 62RI1 62 6RYYS
CR6R 066l 90Q @R OIF QPR Sl NG 6LIRARI TO BEGT 6T6M

6Q0Q QUFER TG GOG EAYR 9G° AIST AL GINER URIGWI | BF CASEEER 62 ATER FBEIG
6AIRRIG TR, 69 9@ VILER YR AR 6, BI'A IGLIR A ITIQ RAILREA @ ALY 1L 61 @B
YD PRGN NK° 6TAR 6IRY FERS AR IR ACIR 6LRAAIRAN| 64 6QYRI ATAAIFER AR VA
ARIAER T, YN AGS] 6ANER QIR QAIAGE

EREHERER 62 GF 6RI0R1 §99G i@ TIRIRRI, 69N 699 AUER GO G191 6TIRG- 65ITR6R GI'a G101 G
0291 20066 2AR6A ERNIKINE 9e° IY6Q FIN1A Y QIGF| 64 GO 121 IFN | 6ACIER JQe! 90Qd
adie J09eq 6RYSl 2YIL0 AYeR

FEIIB FRIQ 6QE G0 GIRYIPE6R QIAFE 6ANYA! ‘FRI 62QI' 2 AFOIR FARIG?

~= Techofworld.In

@t

Correct Answer: 4) IR

Candidate Answer: 4) 4@

QID : 655 - G¢l6a 9918 @ALIRRS! SUPHTE 993 Ie° 07 g496en eaa Gag!

FARIQ FAR1E AR a1 AQR Q6 64Y 620N 68 QTR AR OF 6AFE CHINI ¢ 621R ATYNI| FIQE!
T2ITa 999 SRl AURAIER JFI F6R ¥4 62R8 6d AT6al

Q2 g9 U6QIAIw 6T0ER QIdIRRId YORIQ 6HINIRM- 62 PR FIFAER; G2 RIFACR; SR S
69a2)6m| TAT 816 AUCA YRR I9° AQYRI| 6I6R 6967 62 6RAYYRNI| T6G AGIRUGT 62RI1 62 6RYYS
6Q6R G668 QA @R PIF QIPQ 2l AL 6LIRAKI 5O B6GH 66m

6AGR QIFER Qo9 FOGN AR IQ° AIGE AICE QN6 RGN 75 6U6REA6R 64 ATER FR4IG
68IRRIQ AR, 69 9@ VILER YR ARl 64, SI'A YSIR A/ IRIQ AAIAREA @ ALY 9L A6 @O
YR SINGN NL° 6T 62RY FENS AR 62910 AT CLAAIRARN| 64 YR AAAAIG6R 22N AT
2FINER AT, SN AFE1 6Q716Q IR AIRSEI

660696 61 &8 6Q10Q1 G190Q 1T RGN, COYR 68% QIS F0 GIQI 62IAGE- 6AITRER e G171 8
ORél 20850 28866 6AMIKINE 19 126a AIR10 WA QIS 64 998 1LIq AT 62FI6R ARRE 9 ool
adie Je9Rq RS AYILE QYsmI

4 G4 IF6gH16Q FEQIB FRIQ 676 KT 0K7?

Options:

1) 989 4@ J6RI91 R4e 966 219Q J6m|

2) QA Ne° GIF UERISIG CIIER FIIG 66T UG @RI SRR
)
)

3) gOS1 @8R HFAY Zem U9 A9LR gIge KA
4) 999l OIF AAA TGS 9S° EAYSIER RTIRYERI
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Correct Answer: 3) 901 @R UFGE Y6M IQ° ALRER GIRI FQAER

Candidate Answer: 3) 9901 G4 TGS 26R IS° AEFE YIFIRI FQEER

QID : 656 - S1ENIGIR 2GR 6LIRARI NLI F19Q AF FAQ IS° AT 6QILY NG K| 6SIaR 626R AAIVIG
QA IR Y4 2IF 6RRIG LAIREAEMI

26E1 9L VNRIFER A @Y, ¢ WIT YR 9° 2R FOI 29 IR 6aq CIVIIER AT R 6R
QI21a AIQ 2R 68FAIFFA QLI TEAIT ATQ 6990 F68 OF SRR

@G 6KEEERER T60IQ 62 6aF10 IR AIR 62917 629, ZI6H F66 9F AR LR LA ASR! e
6861 AQOIQ 64T A1 2UIF AAEA 9K AN ISR 2R QGIRRI|

6U606RER ARG IQ° QIF QYIS ©126a QITITER 6AFIEE FUG 2GOR RER ?

== Taechofworld.In

1) 2Q99

2) dlage

3) 621CE9

4) 6g1I6Q UG

[ e e

Correct Answer: 3) €QIR®

Candidate Answer: 3) 6Q1G(®

QID : 657 - S1AQIGIQ 29K 621R2A 9L A6 QB @A Ie° A9 691¥g AN *A| 6HIER 626R AAIBIG
QA ARG 9Py 2IA 6QRIF TAURECRERI

2lieel I2Ig ANRINER AIE) KY, € AIQE QYR 9e° AR F0I AQ AR 6aq CIFIAIEE ATl daeleR FagleR
QI2IQ AIQ 2R 68FAIFFTA QLI TEAIT A2Q 6990 F6¢1 OF FHIRY6R

Qg 60606R6R §601Q 62RI 6aT6 QA QIR 621G 629, ZIEA F68 9f QAR AR oA QSR 2Ie
6861 AQOIQ 6gF AN UIF RAECA 9K AV AR 2R QGIRRI|

QRE0I6Q 94 QY 288

Correct Answer: 2) gl

Candidate Answer: 2) 4Gl
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QID : 658 - $1EQIGIY 2IAA 6PN 1L N8G AL PRSI 1e° UG 6214 VR KGRI 6HIER 626m AAIAIG
QI ARE QY A EFRIG LANEAERI

21661 1217 ANRIFER A @R, ¢ UF 9% 9e° Fah SOl A9 ARIR 69Y FVIAIER QIT IR @EER
QI2IQ AIQ 2R EBFAINTA QUL F6RIT Aea 6020 §66 OF SRR

Qg 6UCOERER FEQQ 62MI 68716 NRAIYI IR 6291q 624, 2167 F6¢ @ YAIAR LTI FLa 0! 217
664119 AQOIQ 66 i1 2T RAEA IR VIR AR 2R QGSIRR1

QLN F126Q ERELERER F1TIBH q@ 27
Options:

1) Fg@diea
2) ALAUEREQ
3) JiAERER
4) 9656R

Correct Answer: 1) (g@d6a

Candidate Answer: 1) AQ@fica

Techofworld.In

QID : 659 - SRIAIGIR 2IRR 6TRYR YL 119G A0 AR Y&° AQ 691¢] ARG G CHTR 626R ARG
QA KRG GHY 21 6gRIG LAREIER

2661 9219 KARIFER AIG @, ¢ NGE 69Yg 9e° fan 01 A7 IR 699 FITIFIEE AL TR FH2ER
QIRIR AIF 2R EBRAINFA QI F6AIT Q2R 690 §6¢ 08 FHIRER |

@G 6UEOER6R QEAQ 62MI 60710 QAIGI AIQ 62Q1g 629, 21167 968 @ AR UILIA Lo A0 2iel
66419 AQOIQ 669 A 2UIF AAEA U@ LR AR 2R SFFIRRII

6618 QR 6519 AIT V' YOO FQR?

Options:

1) 631Q BB 2K AAER AGRI

2) 3QQ 2R I RAE AR

3) 2Q6ITQ IR 2IE QUER AR
4) QLA TR 2K RACA AGR

Correct Answer: 3) 2462189 8IR 2IF QU6Q OGR!

Candidate Answer: 4) Q2122 810 219 QY69 AGR

QID : 660 - S1EIGIQ 2IAA 6PN (LI N18G AL PRSI 1e° UG 621¥ G KA 6HIER 626m AAFIG
QI FRE QY 29 EQRIG PAINEREMI

21661 1217 ARRIFER A @R, ¢ UIF 694 9e° FaR FOI A9 IR 697 VVIAIER QI Fa6n FEER
QIZIQ A 2R ETRAIPTA QUS| F6AIT A2q 6990 @64 a8 AdIAYsRl

@g 6E0ERER SERQ 6aNI 6RTIE FQAILI QIR 62RIQ 62, ZIEF F64 OF QAR LITIQ I AT 27
6941Q AG0IQ 64 R 2UIF1 RUEA IR 2VIQ TR 2IQ QG |

quq 2IRE9C| RITIQ J1R?
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Options:

1) 92| 6N AIS AL 9RIRE
2) 991 6AAIRTA MEY A2 6ARHIRAT
3) 42! 6AFINTA 651 AL CARNUIAR
4) 921 6Q0IeEa g4 92 6ARSIRE

Correct Answer: 3) 2 QRIS 651 AL ARHIQE

Candidate Answer: 4) 2| 6Q710Q §d 92 6AadIa8

Techofworld.In

QID : 661 - The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

The skit is prepared by / one of my students and / it is really funny and enjoyable.

Options:

1
2
3
4

The skit is prepared by

one of my students and

it is really funny and enjoyable.
No Error

—

Correct Answer: 4) No Error

Candidate Answer: 1) The skit is prepared by

QID : 662 - Select the word segment that substitutes (replaces) the highlighted word segment
correctly and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

Divit (used for love playing) football in the corridor.

Options:

1) used to love to playing

2) used to love playing
)
)

3) used to loves playing
4) No correction required

Correct Answer: 2) used to love playing

Candidate Answer: 2) used to love playing

QID : 663 - A sentence has been given in Active/Passive voice. Out of the four alternatives
suggested, select the one which best expresses the same sentence in Passive/Active voice.

The metal beams were corroded by the saltwater.
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Options:
1) The saltwater corroded the metal beams.
2) The saltwater corroding the metal beams.

3) The saltwater was corrodes the metal beams.
4) The saltwater corrodes the metal beams.

Correct Answer: 1) The saltwater corroded the metal beams.

Candidate Answer: 2) The saltwater corroding the metal beams.

Techofworld.In

QID : 664 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

Mom was at my sister yesterday to her homework.
Options:

1) screaming,finish

2) screamed ,finish

3) screamed ,finishing
4) screamed ,finished

Correct Answer: 1) screaming,finish

Candidate Answer: 2) screamed ,finish

QID : 665 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

Gunjun the A.C.s off in the auditorium this morning.
Options:

1) switching

2) switch

3) switched
4) switches

Correct Answer: 3) switched

Candidate Answer: 3) switched

QID : 666 - Select the word that is closest in meaning (SYNONYM) to the word given below.

APPREHENSIVE
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Options:

1) doubtful

)

2) arduous
3) upbeat
4) angst

Correct Answer: 1) doubtful

Candidate Answer: 2) arduous

Techofworld.In

QID : 667 - Select the word that is opposite in meaning (ANTONYM) to the word given £
DISCREET

Options:

1) Imprudent

2) Delirious

)

)

3) Inclination
4) Anarchy

Correct Answer: 1) Imprudent

Candidate Answer: 4) Anarchy

QID : 668 - Select the word that is spelled correctly.
Options:

1) Notoreous

)

2) Notorus
3) Notereus
4) Notorious

Correct Answer: 4) Notorious

Candidate Answer: 2) Notorus

QID : 669 - Select the most appropriate 'one word ' for the expressions given below.

Renouncing a belief or doctrine
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Options:
1) Ascetic

2) Abnegation
3) Atheist

4) Agnostic

Correct Answer: 2) Abnegation
Candidate Answer: 1) Ascetic
[ echofworld.In
QID : 670 - Select the option that best expresses the meaning of the idiom or phrase given below.
Taste of your own medicine
Options:
1) to have some secret information about someone
2) something happens to you, that you have done to someone else
3) to do something badly or cheaply
4) to be active without achieving any worthwhile result

Correct Answer: 2) something happens to you, that you have done to someone else

Candidate Answer: 1) to have some secret information about someone

QID : 671 - Who was known as ‘the father of early childhood education'?

Options:

1
2
3
4

B.F. Skinner
Jean-Jacques Rousseau
Charles Lamb

Howard Gardener

—_— e e

Correct Answer: 2) Jean-Jacques Rousseau

Candidate Answer: 2) Jean-Jacques Rousseau

QID : 672 - The Progressive Education Association was founded in which year?

Options:
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Correct Answer: 3) 1919

Candidate Answer: 2) 1980

QID : 673 - The discrimination based on gender in workplaces is known as

Options:

1) Gender roles

)
2) Gender stereotyping
3) Gender socialization
4) Occupational sexism

Correct Answer: 4) Occupational sexism
Candidate Answer: 2) Gender stereotyping
QID : 674 - How many factors influence the process of souallzallon?

Options:

-

Fo N =
© w b o

I

Correct Answer: 2) 4

Candidate Answer: 2) 4

QID : 675 - Which one these is not an agent of socialization?
Options:

1)
2) The family
3) Mass media
4) Books

The school

Correct Answer: 4) Books

Candidate Answer: 4) Books

QID : 676 - Who proposed the 8 stages of Socialization?
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Options:

1)
2) Carl Rogers

3) Edward Thorndike
4) Kurt Lewin

Erik Erikson

Correct Answer: 1) Erik Erikson
Candidate Answer: 2) Carl Rogers

Techofworld.In

QID : 677 - The stage in which a person faces many changes in personal, bioclogical and social
self is known as

Options:

1) Pre-school stage

2) Adolescence stage

3) Young adulthood stage
4) Later childhood stage

Correct Answer: 2) Adolescence stage

Candidate Answer: 2) Adolescence stage

QID : 678 - Maturity stage starts from which age in a person?
Options:

1) 35-65 years of age
2) 6-12 years of age
3) 65+ years of age
4) 18-35 years of age

Correct Answer: 3) 65+ years of age

Candidate Answer: 4) 18-35 years of age

QID : 679 - How many principles of Child Development are there?

Options:

—_

w

i B S e
o mw N

Correct Answer: 4) 6
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Candidate Answer: 4) 6

QID : 680 - The Expectancy theory was developed by

Options:

1) Victor Vroom

2) Abraham Maslow
3) Wilhelm Wundt
4) Richard Lazarus

Correct Answer: 1) Victor Vroom

Candidate Answer: 1) Victor Vroom

TechoﬂNoHdIn

QID : 681 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Everybody thinks that tulips come from Holland. Actually, Tulips are native to Central Asia and
Turkey. In the 16th Century they were brought to Holland from Turkey, and quickly became widely
popular. Today Tulips are cultivated in Holland in great numbers and in huge fields.The botanical
name for tulips, Tulipa, is derived from the Turkish word "tulbend" or "turban", which the flower
resembles. It's considered as the King of Bulbs.Cultivation of the tulip began in Persia, probably in
the 10th century.Sultan Ahmet Il maintained famous tulip gardens in the summer highland
pastures at Spil Dagdi above the town of Manisa.Although it is unknown who first brought the tulip
to Northwestern Europe, the most widely accepted story is that it was Oghier Ghislain de
Busbecq, an ambassador for Emperor Ferdinand | to Suleyman the Magnificent. Tulips spread
rapidly across Europe and more opulent varieties such as double tulips were already known in
Europe by the early 17th century. Nouveaux riches seeking wealthy displays embraced the exotic
plant market, especially in the Low Countries where gardens had become fashionable. A craze for
bulbs soon grew in France, where in the early 17th century, entire properties were exchanged as
payment for a single tulip bulb. The value of the flower gave it a special ‘aura’ of mystique, and
numerous publications describing varieties in lavish garden manuals were published, cashing in
on the value of the flower. An export business was built up in France, supplying Dutch, Flemish,
German and English buyers. The trade drifted slowly from the French to the Dutch and is thought
to have sparked the infamous tulip mania in Holland. Between 1634 and 1637, the enthusiasm for
the new flowers in Holland triggered a speculative frenzy now known as the "Tulip Mania" that
eventually led to the collapse of the market three years later. Tulip bulbs had become so
expensive that they were treated as a form of currency, or rather, as futures, forcing the Dutch
government to introduce trading restrictions on the bulbs. Around this time, the ceramic tulipiere
was devised for the display of cut flowers stem by stem. Vases and bouquets, usually including
tulips, often appeared in Dutch still-life painting. To this day, tulips are associated with the
Netherlands, and the cultivated forms of the tulip are often called "Dutch tulips." The Netherlands
has the world's largest permanent display of tulips at the Keukenhof.

Where is the world's largest permanent display of tulips?
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Options:
1) Keukenhof
2) Turkey
3) Antalya
4) British Columbia

Correct Answer: 1) Keukenhof

Candidate Answer: 2) Turkey

Techofworld.In

QID : 682 - Read the passage carefully and answer the guestions that follow choosing the correct
alternatives.

Everybody thinks that tulips come from Holland. Actually, Tulips are native to Central Asia and
Turkey. In the 16th Century they were brought to Holland from Turkey, and quickly became widely
popular. Today Tulips are cultivated in Holland in great numbers and in huge fields.The botanical
name for tulips, Tulipa, is derived from the Turkish word "tulbend" or "turban", which the flower
resembles. It's considered as the King of Bulbs.Cultivation of the tulip began in Persia, probably ir
the 10th century.Sultan Ahmet Il maintained famous tulip gardens in the summer highland
pastures at Spil Dagi above the town of Manisa.Although it is unknown who first brought the tulip
to Northwestern Europe, the most widely accepted story is that it was Oghier Ghislain de
Busbecq, an ambassador for Emperor Ferdinand | to Suleyman the Magnificent. Tulips spread
rapidly across Europe and more opulent varieties such as double tulips were already known in
Europe by the early 17th century. Nouveaux riches seeking wealthy displays embraced the exotic
plant market, especially in the Low Countries where gardens had become fashionable. A craze fo
bulbs soon grew in France, where in the early 17th century, entire properties were exchanged as
payment for a single tulip bulb. The value of the flower gave it a special ‘aura’ of mystique, and
numerous publications describing varieties in lavish garden manuals were published, cashing in
on the value of the flower. An export business was built up in France, supplying Dutch, Flemish,
German and English buyers. The trade drifted slowly from the French to the Dutch and is thought
to have sparked the infamous tulip mania in Holland. Between 1634 and 1637, the enthusiasm for
the new flowers in Holland triggered a speculative frenzy now known as the "Tulip Mania" that
eventually led to the collapse of the market three years later. Tulip bulbs had become so
expensive that they were treated as a form of currency, or rather, as futures, forcing the Dutch
government to introduce trading restrictions on the bulbs. Around this time, the ceramic tulipiere
was devised for the display of cut flowers stem by stem. Vases and bouquets, usually including
tulips, often appeared in Dutch still-life painting. To this day, tulips are associated with the
Netherlands, and the cultivated forms of the tulip are often called "Dutch tulips." The Netherlands
has the world's largest permanent display of tulips at the Keukenhof.

Which of these people brought the tulips to Europe?
Options:

1) Suleyman the Magnificent

2) Oghier Ghislain de Busbecq

)
)
3) Emperor Ferdinand |
4) Sultan Ahmet Il

Correct Answer: 2) Oghier Ghislain de Busbecq

Candidate Answer: 1) Suleyman the Magnificent
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QID : 683 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Everybody thinks that tulips come from Holland. Actually, Tulips are native to Central Asia and
Turkey. In the 16th Century they were brought to Holland from Turkey, and quickly became widely
popular. Today Tulips are cultivated in Holland in great numbers and in huge fields.The botanical
name for tulips, Tulipa, is derived from the Turkish word "tulbend" or "turban", which the flower
resembles. It's considered as the King of Bulbs.Cultivation of the tulip began in Persia, probably in
the 10th century.Sultan Ahmet Il maintained famous tulip gardens in the summer highland
pastures at Spil Dagi above the town of Manisa.Although it is unknown who first brought the tulip
to Northwestern Europe, the most widely accepted story is that it was Oghier Ghislain de
Busbecq, an ambassador for Emperor Ferdinand | to Suleyman the Magnificent. Tulips spread
rapidly across Europe and more opulent varieties such as double tulips were already known in
Europe by the early 17th century. Nouveaux riches seeking wealthy displays embraced the exotic
plant market, especially in the Low Countries where gardens had become fashionable. A craze for
bulbs soon grew in France, where in the early 17th century, entire properties were exchanged as
payment for a single tulip bulb. The value of the flower gave it a special ‘aura’ of mystique, and
numerous publications describing varieties in lavish garden manuals were published, cashing in
on the value of the flower. An export business was built up in France, supplying Dutch, Flemish,
German and English buyers. The trade drifted slowly from the French to the Dutch and is thought
to have sparked the infamous tulip mania in Holland. Between 1634 and 1637, the enthusiasm for
the new flowers in Holland triggered a speculative frenzy now known as the "Tulip Mania" that
eventually led to the collapse of the market three years later. Tulip bulbs had become so
expensive that they were treated as a form of currency, or rather, as futures, forcing the Dutch
government to introduce trading restrictions on the bulbs. Around this time, the ceramic tulipiere
was devised for the display of cut flowers stem by stem. Vases and bouquets, usually including
tulips, often appeared in Dutch still-life painting. To this day, tulips are associated with the
Netherlands, and the cultivated forms of the tulip are often called "Dutch tulips." The Netherlands
has the world's largest permanent display of tulips at the Keukenhof.

The name 'tulip' is derived from which of these words?

Techofworld.In

Options:
1) turban
2) bulb
3) flower
4) royal

Correct Answer: 1) turban

Candidate Answer: 3) flower
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QID : 684 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Everybody thinks that tulips come from Holland. Actually, Tulips are native to Central Asia and
Turkey. In the 16th Century they were brought to Holland from Turkey, and quickly became widely
popular. Today Tulips are cultivated in Holland in great numbers and in huge fields.The botanical
name for tulips, Tulipa, is derived from the Turkish word "tulbend” or "turban”, which the flower
resembles. It's considered as the King of Bulbs.Cultivation of the tulip began in Persia, probably in
the 10th century.Sultan Ahmet Il maintained famous tulip gardens in the summer highland
pastures at Spil Dagi above the town of Manisa.Although it is unknown who first brought the tulip
to Northwestern Europe, the most widely accepted story is that it was Oghier Ghislain de
Busbecq, an ambassador for Emperor Ferdinand | to Suleyman the Magnificent. Tulips spread
rapidly across Europe and more opulent varieties such as double tulips were already known in
Europe by the early 17th century. Nouveaux riches seeking wealthy displays embraced the exotic
plant market, especially in the Low Countries where gardens had become fashionable. A craze for
bulbs soon grew in France, where in the early 17th century, entire properties were exchanged as
payment for a single tulip bulb. The value of the flower gave it a special ‘aura’ of mystique, and
numerous publications describing varieties in lavish garden manuals were published, cashing in
on the value of the flower. An export business was built up in France, supplying Dutch, Flemish,
German and English buyers. The trade drifted slowly from the French to the Dutch and is thought
to have sparked the infamous tulip mania in Holland. Between 1634 and 1637, the enthusiasm for
the new flowers in Holland triggered a speculative frenzy now known as the "Tulip Mania" that
eventually led to the collapse of the market three years later. Tulip bulbs had become so
expensive that they were treated as a form of currency, or rather, as futures, forcing the Dutch
government to introduce trading restrictions on the bulbs. Around this time, the ceramic tulipiere
was devised for the display of cut flowers stem by stem. Vases and bouquets, usually including
tulips, often appeared in Dutch still-life painting. To this day, tulips are associated with the
Netherlands, and the cultivated forms of the tulip are often called "Dutch tulips." The Netherlands
has the world's largest permanent display of tulips at the Keukenhof.

Which of these was not a happening that took place during the "Tulip Mania"?

= Techofworld.In

1) Tulips were treated as a form of currency

2) Dutch government to introduce trading restrictions on the bulbs

3) ceramic tulipiere was devised for the display of cut flowers stem by stem
4) People planted gardens with hundreds of Tulips

Correct Answer: 4) People planted gardens with hundreds of Tulips

Candidate Answer: 1) Tulips were treated as a form of currency
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QID : 685 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Everybody thinks that tulips come from Holland. Actually, Tulips are native to Central Asia and
Turkey. In the 16th Century they were brought to Holland from Turkey, and quickly became widely
popular. Today Tulips are cultivated in Holland in great numbers and in huge fields.The botanical
name for tulips, Tulipa, is derived from the Turkish word "tulbend" or "turban", which the flower
resembles. It's considered as the King of Bulbs.Cultivation of the tulip began in Persia, probably in
the 10th century.Sultan Ahmet Ill maintained famous tulip gardens in the summer highland
pastures at Spil Dagi above the town of Manisa.Although it is unknown who first brought the tulip
to Northwestern Europe, the most widely accepted story is that it was Oghier Ghislain de
Busbecq, an ambassador for Emperor Ferdinand | to Suleyman the Magnificent. Tulips spread
rapidly across Europe and more opulent varieties such as double tulips were already known in
Europe by the early 17th century. Nouveaux riches seeking wealthy displays embraced the exotic
plant market, especially in the Low Countries where gardens had become fashionable. A craze for
bulbs soon grew in France, where in the early 17th century, entire properties were exchanged as
payment for a single tulip bulb. The value of the flower gave it a special ‘aura’ of mystique, and
numerous publications describing varieties in lavish garden manuals were published, cashing in
on the value of the flower. An export business was built up in France, supplying Dutch, Flemish,
German and English buyers. The trade drifted slowly from the French to the Dutch and is thought
to have sparked the infamous tulip mania in Holland. Between 1634 and 1637, the enthusiasm for
the new flowers in Holland triggered a speculative frenzy now known as the "Tulip Mania" that
eventually led to the collapse of the market three years later. Tulip bulbs had become so
expensive that they were treated as a form of currency, or rather, as futures, forcing the Dutch
government to introduce trading restrictions on the bulbs. Around this time, the ceramic tulipiere
was devised for the display of cut flowers stem by stem. Vases and bouquets, usually including
tulips, often appeared in Dutch still-life painting. To this day, tulips are associated with the
Netherlands, and the cultivated forms of the tulip are often called "Dutch tulips." The Netherlands
has the world's largest permanent display of tulips at the Keukenhof.

Who among these maintained tulip gardens in the summer highland pastures at Spil Dagi?

- Techofworld.In

1) Suleyman the Magnificent
2) Oghier Ghislain de Busbecq
3) Sultan Ahmet |1l

4) Emperor Ferdinand |

Correct Answer: 3) Sultan Ahmet lll

Candidate Answer: 1) Suleyman the Magnificent
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QID : 686 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

= [ @ChoOfworld.In

Spades take up leaves
No better than spoons,
And bags full of leaves
Are light as balloons.

| make a great noise
Of rustling all day
Like rabbit and deer
Running away.

But the mountains | raise
Elude my embrace,
Flowing over my arms
And into my face.

| may load and unload
Again and again

Till | fill the whole shed,
And what have | then?
Next to nothing for weight,
And since they grew duller
From contact with earth,
Next to nothing for color.

Next to nothing for use,
But a crop is a crop,
And who's to say where

The harvest shall stop?

What is the poet filling up the leaves into?

Options:

Correct Answer: 4) A shed

Candidate Answer: 1) A sack
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QID : 687 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

e 1 €CHOTWOrld.IN

BY ROBERT FROST

Spades take up leaves
No better than spoons,
And bags full of leaves
Are light as balloons.

| make a great noise
Of rustling all day
Like rabbit and deer
Running away.

But the mountains | raise
Elude my embrace,
Flowing over my arms
And into my face.

| may load and unload
Again and again

Till I fill the whole shed,
And what have | then?
Next to nothing for weight,
And since they grew duller
From contact with earth,
Next to nothing for color.

Next to nothing for use,
But a crop is a crop,
And who's to say where

The harvest shall stop?

The leaves make a rustling noise like which animal?

Options:

Correct Answer: 1) Rabbits

Candidate Answer: 1) Rabbits
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QID : 688 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.
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Spades take up leaves
No better than spoons,
And bags full of leaves
Are light as balloons.

| make a great noise
Of rustling all day
Like rabbit and deer
Running away.

But the mountains | raise
Elude my embrace,
Flowing over my arms
And into my face.

| may load and unload
Again and again

Till | fill the whole shed,
And what have | then?
Next to nothing for weight,
And since they grew duller
From contact with earth,
Next to nothing for color.

Next to nothing for use,
But a crop is a crop,
And who's to say where
The harvest shall stop?
What does the poet compare bags full of leaves to?
Options:
1) A stone
2) A balloon
)
)

3) A feather
4) A scarf

Correct Answer: 2) A balloon

Candidate Answer: 2) A balloon
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QID : 689 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

e | €CHOTWorld.In

BY ROBERT FROST

Spades take up leaves
No better than spoons,
And bags full of leaves
Are light as balloons.

| make a great noise
Of rustling all day
Like rabbit and deer
Running away.

But the mountains | raise
Elude my embrace,
Flowing over my arms
And into my face.

| may load and unload
Again and again

Till | fill the whole shed,
And what have | then?
Next to nothing for weight,
And since they grew duller
From contact with earth,
Next to nothing for color.

Next to nothing for use,

But a crop is a crop,

And who's to say where

The harvest shall stop?

Why did the leaves become duller?

Options:

1) because of contact with the river

2) because of contact with the tree
)
)

3) because of contact with the earth
4) because of contact with the rocks

Correct Answer: 3) because of contact with the earth

Candidate Answer: 3) because of contact with the earth
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QID : 690 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.
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BY ROBERT FROST

Spades take up leaves
No better than spoons,
And bags full of leaves
Are light as balloons.

| make a great noise
Of rustling all day
Like rabbit and deer
Running away.

But the mountains | raise
Elude my embrace,
Flowing over my arms
And into my face.

| may load and unload
Again and again

Till | fill the whole shed,
And what have | then?
Next to nothing for weight,
And since they grew duller
From contact with earth,
Next to nothing for color.

Next to nothing for use,

But a crop is a crop,

And who's to say where

The harvest shall stop?

Who eludes the embrace of the poet?
Options:

1) Rabbits
2) River
3) Mud
4) Mountains

Correct Answer: 4) Mountains

Candidate Answer: 4) Mountains

QilD : 691 - is considered as the major problem in teaching mathematics.

GIEie G449l 69910 6TGES @ QIR ARGl A6 TR @l €I
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Options:

1) Classroom operations

6588 RIIGH

2) Knowledge of teaching methods
Q8 ARG RIQ

3) Use of mathematical tools
AECR ARG LR

4) No option is correct
6q16d Sag 0@ Q6w

Correct Answer: 4) No option is correct
6@ad Sag O gea

Candidate Answer: 2) Knowledge of teaching methods

Techofworld.In

QID : 692 - Which method of mathematics is used to solve geometrical logical problems?

gIfee 6dlde AAg AR JEeR 68Q6 88 Q9o 997
Options:

1) Summative
QAT

2) Deductive
Faln)

3) Analysis
F694

4) Inductive
A5 )

Correct Answer: 2) Deductive
aisle)

Candidate Answer: 2) Deductive
Flaiale)

QID : 693 - In Mathematics, ‘Representation’ does not refer to

SEie6a , "geRNg" Q9N @ |
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Options:

1) expressing the given data through graphs

YIeTQ FlUFER JoB 6961 J@lsl @l

2) expressing the number sequence through geometrical patterns
QIoR FREagea ArINER AY G918 I8 @4l

3) expressing an important geometrical result as a theorem
QUAIQ QA6 9T JRggd FLoe TRITR gRIE Kl

4) expressing the relation between two variable as an equation
@ AO1RQE BAIREA GT ANIIR FRICAAAD RIS QU

Correct Answer: 3) expressing an important geometrical result as a theorem
QUAIg 2AI96a 19T JRPdd FIAeR TRITR gRIE aal

Candidate Answer: 4) expressing the relation between two variable as an equation
I ANRAE BAIREA G AURISR AIEAAAD RIS KA

Techofworld.In

QID : 694 - Community Mathematics is interconnected with which of the following?
QAT GdIe AUFYCYER Q FRIER IR ATE LYS?
Options:

1) Integration
QA6

2) Trigonometry
G6RNGES

3) Arithmetic

A

4) No option is correct
66l Sag O 962

Correct Answer: 3) Arithmetic
A6

Candidate Answer: 4) No option is correct
exled Sag Ox Q62

QID : 695 - is essential to do away with the problems of teaching mathematics.

aéie d6saQIa AAYIYER 9 KR! FQ
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Options:

1) Practicing all subjects with the same teaching method
AL Q0L 9RGEQ ANY FTL, 2gAaa @ell

2) Appropriate nature of the teacher

JReq 2AYS 9%

3) To include group discussion in teaching

dI0QIRQ 686G g ARSI 81@@@ @l

4) No option is correct

6@16d Sag 0@ 962

Correct Answer: 2) Appropriate nature of the teacher
JRRQ QAYS 99T

Candidate Answer: 1) Practicing all subjects with the same teaching method
QAU AIOQIF ARTEQ A FaA AQHRR @

Techofworld.In

QID : 696 - Building a mathematical wall in the classroom helps students

698@96Q QI8Ge gIe1a SuIReal daIE1R QLIS K6
Options:

1) to share their views and problem with others and show their creative ability
2Za dI68l L1 F1LIC1E IQ° LYl WY @6Q 9Q° QIR YRRGlIw QAC! 6LElIER

2) to understand difficult concepts in mathematics

S AT MRS QEER

3) to know their position in the class

QILER P UL FIFER

4) to learn all the formulae of geometry

gFioa ang 9g dgQlca

Correct Answer: 2) to understand difficult concepts in mathematics
S @5% MR 9EER

Candidate Answer: 4) to learn all the formulae of geometry
gFioa ang 9g dgica

QID : 697 - Which of the following is not a problem related to teaching mathematics?

A01Q 6206 GIdie C6ERRIA AT ANRE g6L?
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Options:

1) Physical and mental health of students

aieha S101ae 8 AIedR QIg

2) Inadequate subject-related knowledge of the teacher
d9ea adig Qua AARe RIQ

3) Handling the active students in the class

RA69 A 1819 AALIRA! KRR

4) No option is correct

ealed Yag A0 g6

Correct Answer: 4) No option is correct
6@lad Qag A0 g6w

Candidate Answer: 3) Handling the active students in the class
RUAEQ AGA AR VRIS QS

Techofworld.In

QID : 698 - Ram was asked to express 7 metres in terms of centimetres. His answer was 70
centimetres. What type of error is it?

QY 7 Acaq 6QEN0R 62 a9 @A8Ig RAIAIN | IR @8R YRl 70 6AFATIAI UG 629 M8 57

Options:

1) Wrong algorithm
2R YIRGaQa

2) Basic fact error
69d@ g1 g%

3) Incorrect operation
QP AT

4) Regrouping error
gaqua ga° 9o

Correct Answer: 2) Basic fact error
69dQ gIQ 9%

Candidate Answer: 2) Basic fact error
69dR IR g6

QID : 699 - The mathematics curriculum must develop a sense of

QEIeQ AIQFAT 2egR Q 6QRI TR RAQ @RI
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Options:

1) motivation

sgadll

2) self confidence
2105919

3) understanding
SN

4) All options are correct
aAng Geg A0«

Correct Answer: 4) All options are correct
08 Geg A0«

Candidate Answer: 4) All options are correct

Techofworld.In

QID : 700 - Which of the following is/are the forms of Gallery walk in mathematics?
|. Teacher observation
Il. Small group problem solving

390 @65 966a GIRIQT BRIRa TA/GF ?
. S9e adeqsd
Il 6816 ga QA QAR

Options:

1) Only |

e |

2) Only I

exaq 1l

3) Both | and Il

199 || awk

4) No option is correct
6@l9d Swg A0W Ge¥

Correct Answer: 3) Bothland Il
1 9e”° || @

Candidate Answer: 3) Both | and Il
1 9e° || @ee

QID : 701 - What is the unit digit of (19)36° x (23)*8 x (65)%7?

(19)°%5 x (23)*8 x (65)*"Q 9@ YT 6607?
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Options:

W N =
W OO =

)
)
)
)

FS

Correct Answer: 3) 5
Candidate Answer: 4) 3

Techofworld.In

QID : 702 - Whatisthevalueof 1+2+3+4+5 ... .. 147
T#2%3 ¥ 448 e 14 Q ¢lIR 6@6G7

Options:

1) 115

2) 107

3) 105

4) 117

Correct Answer: 3) 105

Candidate Answer: 3) 105

QID : 703 -

lfx =+/3 —v/4 andy=+/3+ 3-8, then what is the

value of (x = y)?

A3x =3 -4 9 y=43+38 29 606° (x-y)a
IR 667

Options:
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Correct Answer: 3) 0

Candidate Answer: 2) V3

QID : 704 - Side of a cube is 3 cm. What is the lateral surface area (in cm?) of the cube?

@G UR6RER AINE 3 6271 RANIER AKJIN JIQ 6TGTR (6Q71%) 67657

Options:

»» [ echofworld.In

Correct Answer: 2) 36

Candidate Answer: 4) 54

QID : 705 - Half of the perimeter of a rectangle is 24 cm. If the breadth of the rectangle is one
third of its length, then what is the area (in cm?) of the rectangle?

IRG 2Igo6Aga 6AQ A6@ 24 671 AR 2IVC6IRER JF 676¢a IR GHIAIE 99, 6069 2INEALR
29eQ (69572) 68667

Options:

Correct Answer: 1) 108

Candidate Answer: 1) 108

QID : 706 - Radius of a hemisphere is 4.2 cm. What is the volume (in cm?3) of this hemisphere?

RS 6SIRIEAR FIART 4.2 6271 99 69IRRIA AIReR (62F°%) 6a6e?
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Options:
1) 103.488
2) 155.232
3) 68.992

4) 175.232
Correct Answer: 2) 155232

Candidate Answer: 1) 103.488

TechoﬂNoHdIn

QID : 707 - If a + b = 5 and ab = 6, then what is the value of a3 + b3?
Q% a+ b =59° ab = 6 99 6069 a° + b> Q QIR 62607

Options:

4) 215
Correct Answer: 3) 35

Candidate Answer: 1) 89

QID : 708 -

1 , 1
ix® + — = 34, then what is the value of x* + —?
X X

at 1 1
QG x° + - 34 @9, 6069 X° + Feae EREQ?
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Options:

1) 34

2)7

3)27

4)6

Correct Answer: 4) 6

Candidate Answer: 3) V27

Techofworld.In

QID : 709 - If x* — 8x® + 7x% + 18x + 72 is divided by (x — 4), then what will be the quotient?
Q@ x* —8x3 + 7x% + 18x + 72 @ (x — 4) QIQI QIS @A §I 636R NNTRT @4 2Q7?

Options:

1)x3 +4x? - 9x - 18

2)x®—4x>-9x + 18

3)x*—4x% +9x— 18

4)x3 —4x2-9x - 18

Correct Answer: 4) x° —4x?—9x— 18

Candidate Answer: 3) x°—4x° +9x —18

QID:710-Ifax b =a+ b + ab, then what is the value of 7 x 3?7

&]@axb=a+b+ab§ﬂ€@6@7x3aﬂl@€@6@?

Options:

i

Correct Answer: 2) 31

Candidate Answer: 4) 27
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1z TUIDIIA 1Tau T LIYIviiy 1S3t

QID: 711 -
If % =%, then what is the value of
a—i?
a
QAQ e ] 1, 6069 a — 10(;”9 6@ER?
2’18216 4 &0 a s

- | @ChOofworld.In

1)

Correct Answer: 1)

33
4

Candidate Answer: 3) 12

QID : 712 - In a group of 25 persons, when a person having weight 60 kg is replaced by a new
person, then the average weight of the group is increased by 1 kg. What is the weight (in kg) of
new person?

25 @60 4@ 9R6Q, 6L6Q 60 69G 6eFa 67144 g2l @AQ QIAI 9GAITS 94, 666Q ORQ TIAITIT Bae 1 6aF
98 QA P41 G281 @B 095 (61T 61) 67687

Correct Answer: 4) 85

Candidate Answer: 3) 86
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QID : 713 - A can do a work in 5 days and B can do the same work in 10 days. How many days
will both take to complete the same work together?

A 5 G9Q F1I6Q QG QIF KRGS IER 9e° B 10 GFQ FIEOMKR QIF @591 AI6a1 98 ¢REd 99 A6 9@
@I¢ 6 FAQ 6FEG G0 ALILL 62697

Options:

> Techofworld.In

Correct Answer: 3) 10/3

Candidate Answer: 1) 3

QID : 714 - What is 20% of 20% of 2007

200 @ 20% Q@ 20% 6Q62 ?

Correct Answer: 1) 8

Candidate Answer: 1) 8

QID : 715 - 18% of which number is equal to 12% of 757

600 A°YR 18%, 75 @ 12% QA8 AAIR?

Options:

Correct Answer: 1) 50
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Candidate Answer: 4) 320

QID : 716 - If the sides of a right angled triangle are x, (x + 1) and (x — 1), then what is the length
(in cm) of its hypotenuse?

0@ 9@ AR GRea A1E GFR X, (x + 1) 99° (x — 1) 99, 6669 AGAIRG 63¢] (621 606672

Options:

2% Techofworld.In

3)7
4)6

Correct Answer: 1) 5

Candidate Answer: 4) 6

QiD: 717 -
In the given figure, ABCD is a rhombus. AB = 6

cm and ZABC = 120°.What is the length (in cm)
of diagonal BD?

goea 6gceq, ABCD 62l 1@ GIgja| AB = 6 697 1e°
ZABC = 120°1 Gd@ BD Q 63¢] (69¢) 6a60?

D C
A B
Options:
1)4
2)6
3)8
4)12
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Correct Answer: 2) 6

Candidate Answer: 3) 8

_ Techofworld.In

In the given figure, ABCD is a cyclic quadrilateral
with centre O. If ZCOD = 120° and £BAC = 30°,
then what is the value (in degrees) of ZBAD?

gea 9g66n, ABCD eaml 1@ ogue CIEl 6m699
egl@l O1 LCOD = 120° 9e® ZBAC = 30°, ZBAD
Q €lIe (G9169) 6a6?

Options:

Correct Answer: 2) 90

Candidate Answer: 1) 60
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QID : 719 -
In the given figure, O is the centre of the circle. If
ZA0OB = 110°, then what is the value of ZAPB?

goa 9gea O gaa eagl 9§ ZAOB = 110° g4,
6060 ZAPB @ ¢liq 6869?

A
. p
&
Options:

™ Techofworld.In

Correct Answer: 4) 70

Candidate Answer: 4) 70
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QID : 720 -
In the given figure, C1 and C: are the centres of

the circles. If /.BDC = 120°, then what is the
value (in degrees) of ZABP?

dea T6gea Crie® C; coml 9gea eagl 98
ZBDC =120°, 6069 ZABP Q ¢1a (G9/16Q) 6a60?

A
= | @CHhOfworld.In

Correct Answer: 2) 60

Candidate Answer: 2) 60

QID : 721 - How technique of ‘Classroom questioning’ in teaching science can be used more
effectively?

ARIFQ V0L 6FGER ‘64490 AR 2AQIQ 6al9e AAR 2Igh ALRANES FITIQ KA ARAIER?
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Options:

1) Ensuring active participation of students
JIea Aqe 2eaged FAe *ag

2) Developing rote learning

7918 !4 dgeIn RIS 6218

3) Developing discipline in the class

2 G5l TR [

4) No option is correct

6@l Seg A0 Q62

Correct Answer: 1) Ensuring active participation of students
JQIEQ Q@Y 2°aged ARC @ag

Candidate Answer: 1) Ensuring active participation of students
Q11 AQQ 2°AFLE AL 999

Techofworld.In

QID : 722 - How practical work in science helps students in the learning process of science?

IRFQ QILNAR RN FANER TV 169 FRICAA FYRIQ YFAER ATIAIG REQ?
Options:

1) Improve the marks obtained by the students

JRIAIQ IY RGP QR0 K9g

2) Help the students to develop the habit of maintaining written records
QIR AYE 60Re ARV AR AYA GF PRV ARG 909G

3) Keep proper check on punctuality and regularity of the students
218609 FACIGRER! IQ° FAAEE! A%E Q2 699 KA

4) Help the students to verify the theoretical concepts

QAR 2T AIGIR KRS TV ATIAG! KA

Correct Answer: 4) Help the students to verify the theoretical concepts
QPR UG UIGIR FR6R FAIEHQ AN K9G

Candidate Answer: 4) Help the students to verify the theoretical concepts
QPR UILKIG UIPIR Aa6R dICHa ATIAG! K9

QID : 723 - Project method in teaching of science is suited mostly to

FRIFQ I0QIRA JRFR IRGT 69900 QAR QYS!
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Options:

1) promote understanding of basic concepts in science
IRIFQ QIAIFR RGP REQNG ICIR KRP

2) enhance numerical abilities of the students
FATNRTR YIS @VG! 98

3) strengthen reasoning skill of the students
FNTNFA Y3 281 QR0

4) No option is correct

6al6d Gag A0 Q6%

Correct Answer: 1) promote understanding of basic concepts in science
ARIAe giIF@ dIAIgER 98I IOIe KA

Candidate Answer: 3) strengthen reasoning skill of the students
JdQnIeea 98 Q86! QR0

Techofworld.In

QID : 724 - A teacher training intern wants to make a lesson plan on the theme ‘Shelter’. What
kind of teaching method will be helpful for the intern?

@68 99 g9A9E QAIE G G 696 et A0 9AxEel 521 @ARIg GI6L | AR JeER JRE aed
AR AIGl ATIAR G197

Options:

1) Making innovative teaching aids on the topic ‘Shelter’

g S1g9e G99 2RRQ FAIGRR AN 9RIA

2) With the help of a guide, making questions and answers for the students which help them for
their exams

FIRGQ AR, 4RIC16QR 99 8 Aaa F2R KAl Al 91690 ANVIQ I FIA ALING! K6

3) Writing only important points

QYFIQ FRPTE T4 6nSIg

4) All options are correct

a9a Sag A0

Correct Answer: 1) Making innovative teaching aids on the topic ‘Shelter’
G F18e G0 RN TR ARG 9IR

Candidate Answer: 4) All options are correct
aqe Qag A0e

QID : 725 - What is the best method for a science teacher to teach the concept of ‘Physical and
Chemical change’ to class VI students?

@4 SmIea 999 AR VI 6580 daIEa ‘9910 3 QARG Re0e’ JIRdIE J63RaIa A6LIRN ARG Q8?7
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Options:

1) By demonstrating different experiments so that students can observe and learn
Q6R 0QIAI-GR1A FEQ FIES FRIENR AIELTE [R6S G TTES AI6A

2) By writing some examples of physical and chemical change

SRR 6 AAARR AARFRR 6RVIT RRILAE 6RNUG

3) By asking students to memorise the definitions of physical and chemical change
JQIL1Q AIN10R 16° AAVTR IR R |38 K0S GRIQ AIRIER

4) No option is correct

6aled Qa8 A0 968

Correct Answer: 1) By demonstrating different experiments so that students can observe and
learn
R V-GN F6Q FI6S FVICIR AT6TE [R6S 8 FT6S AI6A

Candidate Answer: 2) By writing some examples of physical and chemical change
FI910Q @ AAATR IR 601G QLA 6ATP

Techofworld.In

QID : 726 - Which of the following is the key feature of Formative Assessment in science?
Q70 Q4T TRIAEQ FACATA ZI6AAEFERR ¢Jw 6688, ?

Options:

1) It is conducted at the end of the year
G @ 661960 AASIRG 99

2) It is diagnostic in nature

N2l 62Q8 g0 LI6RI6AINTR

3) It encourages rote learning

N2l 99 @8 QIR AR KR &2

4) No option is correct

6164 Seg A0 g6e

Correct Answer: 2) Itis diagnostic in nature
N2 62R8 9909 LI6AI60IRTe

Candidate Answer: 3) It encourages rote learning
N2l F8id @8 JYRIa 9IR *QI2 &

QID : 727 - Summative Assessment in science should mainly focus on

IRIGQ A°TFE IR JUIFS Q Qda 9F Fe® @Al @S|
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Options:

1) testing of mainly the practical skills

RIFS QRIS V1A AV *QG

2) testing important theoretical concepts

J9R98 1R vIRdI aal

3) assessing observational skills

ad6ead Qs (RIoe

4) diagnosing the areas of difficulties of students
NIEIQ YRR 69Q9F FdD ARG

Correct Answer: 4) diagnosing the areas of difficulties of students

AR1g1q 29RUIQ 6889E Fda /ARl

Candidate Answer: 1) testing of mainly the practical skills
QRIS QRLIAR VIR UNF| FAG

Techofworld.In

QID : 728 - While discussing a concept of science, a science teacher firstly explained general rule
and then the examples were illustrated. What method of teaching is used by science teacher?

SRIAA IRG ARSI 69R 2RISR ACIY, F68 TR TR Jesr ARG FANT QI RN 98° CIRTER
QQILQEIGE TEC Q9 622N FRIFQ FAR IR IGTEQ AVQIF FAZ?

Options:

1) Deductive method
0gata 98

2) Inductive method

2RSS ARG

3) Cognitive method
RIPA ARG

4) Skill lesson

QAQI IO

Correct Answer: 1) Deductive method
Ggadta aed

Candidate Answer: 1) Deductive method
Pgatw 08d

QID : 729 - Lesson planning in science should be guided primarily by the consideration of

GRIFQ IO U0REa| QlRINREIES F69971 @0 919e K9l AoV
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Options:

1) meeting the needs of the child performing average in the class
I QLT AT FEF| AR TG goel @l

2) satisfying parents

aga deIAIsI

3) the completion of whole syllabus

gel deaiaa anIg

4) burdening the children with work

@le@a 46l @qe@a QG

Correct Answer: 1) meeting the needs of the child performing average in the class
[T LQITIQ AR QAQ! ABIFQ TITQ YRS IR

Candidate Answer: 1) meeting the needs of the child performing average in the class
Y VAUV AN} GRS AVQ FITQ! JAE @9

Techofworld.In

QID : 730 - How 'newspaper reading’ in a science class will be helpful in teaching learning
process of science?

@U6 99 RIS 69860 ‘RACUG AR’ TR I0LIE U8E JURS 8Q6Q ATV 297
Options:

1) It enhances the child’s perception and make him aware about the outside world
gl IR @ RURE QIgA 98 QITIRA G ANRER QILIQ IELOR A0

2) It has no significance in science classroom

GRIEA0 694958 99 6919 219D 676l

3) It doesn’t add any experience in child’'s learning

G ABIne JYIQ 6Ql6A 2RRG I8 F6Q QI8

4) No option is correct

€al6d Ga A0 g6

Correct Answer: 1) |t enhances the child’'s perception and make him aware about the outside
world
<21 R Q QO9E QIFL N8° QIZINA IF AMRER GIIR AETSR @A

Candidate Answer: 4) No option is correct
616l Geg A0« 962

QID : 731 - Which of the following statements regarding adaption of animals to climatic conditions
is correct?

|. Many animals live on trees in tropical rainforest

Il. Some birds migrate to warmer regions when winter arrives

IIl Polar bears have white furs to protect themselves from predators

@RAIY A2 JEIFIT 928 AAeIa Ge06a G4 @ 696 @9y A0R?

. YIYIYRIA 6ARTEAE 60 TIRYPR 60 ACHD IS Q1K @0

Il. 88 991 91eQie 2IAQ AN Q8 2ERg INI8A6 928

IIl. 62IRIQ SA9GEe JRINIR 216 01 F6aq ATl TS AIG AR 6RIA 2
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Options:

1) Both Il and IlI
I ga° 1l @
2) 1, Il and Il

[, 11 gQ° 11

3) Both | and Il
| ge° |l @@

4) Only |

e@xaq Il

Correct Answer: 2) |, Il and Il
[, 11 Q< [l

Candidate Answer: 2) |, Il and Ill

’ Techofworl

QID : 732 - Which of the following element has valency 47?

AARYS 699 QUYL YR IN1A1 4 26T ?

Options:

1) Aluminium
AURFFA

2) Boron

6QIoe

3) Silicon

&

4) Phosphorous
gLIUd

Correct Answer: 3) Silicon
dree

Candidate Answer: 3) Silicon
deee

QID : 733 - Sound waves are

AR 0QeT gl
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Options:

1) mechanical and longitudinal waves
QIR 9Q° AGETY GR6T

2) mechanical and transverse waves
QRS 9e° gIgRid o9

3) electromagnetic and transverse waves
a@‘g@@ 691g% 9e° gIgeId caet

4) electromagnetic and longitudinal waves
63900 6olgwIn 1e° 2geTy Goar

Correct Answer: 1) mechanical and longitudinal waves
QIR 9e° 2AQETY ST

Candidate Answer: 2) mechanical and transverse waves
AR 9&° gIgad oaer

Techofworld.In

QID : 734 - Two bones are connected to each other by which connective tissue?
Qa6 2I¢ 009a 980 676 A6Iee §Ag QIR A°YD 997
Options:

1) Ligament
ATQRR1

2) Tendon
RE0(6068IR)
3) Areolar
CEGMA

4) Cartilage
SQSIE

Correct Answer: 1) Ligament
R

Candidate Answer: 4) Cartilage
o4

QID : 735 - The gravitational force between two objects is G. If the distance between the two
objects is doubled, then the gravitational force becomes

QRG @ga AyYedd 49 6208 G | 9@ 9aF 99 MY 99g 94 29 6069 AR 43 9l

Options:

Correct Answer: 4) G/4
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Candidate Answer: 2) 2G

QID : 736 - According to modern Periodic law, “properties of elements are periodic function of
their

2P AI0aTe 2IRG 2568, "RUINRYRaR 6399, 0w 6998 QIR Q adiagdie Fal
gﬂ“l

Options:

1) atomic mass
2639 QA

2) atomic numbers
aaelg gl

3) mass of electron
ERe 0 Wil

4) mass of proton
6gIFERR AR

Correct Answer: 2) atomic numbers
QNG Q°g|l

Candidate Answer: 3) mass of electron

-~ Techofworld.In

QID : 737 - Which of the following lens is used by a person suffering from Hypermetropia?

IRAAEAESITAIR 2IFIT 3B F60Q FEIT 677 IR FAZ?
Options:

1) Bifocal Lens
QRACTIRNR 6@

2) Convex Lens

Q0P 699

3) Concave Lens
FEGle 607G

4) No option is correct
6@l Gag 0@ 968

Correct Answer: 2) Convex Lens
QO 699

Candidate Answer: 2) Convex Lens
QAP 69Q
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QID : 738 - Which of the following contraceptives can be used to prevent sexually transmitted
diseases (STDs)?

6dle A°GAd (IATE) gosaIsua ARl 7¢ R4S NI QILTIR 99l AIRAIER?

Options:

1) Copper =T

@aQ =T

2) Oral Contraceptive Pill
67g1R cRBeaIIR 0§

3) Loop

Qd

4) Condom

@RET

Correct Answer: 4) Condom
DRG]

Candidate Answer: 4) Condom

" Techofworld.In

QID : 739 - Due to the decreased level of which hormone osteoporosis mainly occurs in females?

LA E‘JQ@GGQI@Q LI< 260 @IS Jellas 2RI6aR £162) 6wl g7
Options:

1) Testosterone
6E'YCTNLETD

2) Estrogen
QLEER

3) Progesterone
JeTeala

4) Adrenaline
9R04q

Correct Answer: 2) Estrogen
A6

Candidate Answer: 3) Progesterone
a[galselnln

QID : 740 - A fan produces a feeling of coolness and comfort during hot weather because

@ I 9961 it 491k N9Re] N9 2 &ﬁ@@ @QQITIQ IR |
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Options:

1) thermal conductivity of air increases
Qg Q10 9AQIZRI Q& AN

2) fan supplies cool air

JIe dRAL Jd1ow JQ

3) perspiration evaporates slowly

Qla 2169 d1eQ VW

4) perspiration evaporates quickly

¢IP 96 QR QTR 94

Correct Answer: 4) perspiration evaporates quickly
Cle 96 WIEQ QIR 99

Candidate Answer: 4) perspiration evaporates quickly
QIR @0 WIEQ QVIVRT 9

TechoﬂNoHdIr

QID : 741 - Medicine used for indigestionis

QQ2eda AR 9ege s |
Options:

1) Antibiotic
@1Q1¢-906UU(2IFAQABTR)
2) Antacid

AR R

3) Analgesic

6RQAFIER

4) Antiseptic

QIR

Correct Answer: 2) Antacid
delelcla

Candidate Answer: 2) Antacid
ARl

QID : 742 - Sodium chloride (NaCl) is a salt of

6QIGAe 6L (NaCl) QR RQEl
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Options:

1) Strong acid and weak base
SBAIR1 2T IQ° QIR 694

2) Weak acid and weak base
9% 21Id@ 98° QaR 694

3) Strong acid and strong base
S4NR1 YT 9° §B4IR1 69K
4) Weak acid and strong base
Q4R 2Ide 9e° 934191 699

Correct Answer: 3) Strong acid and strong base
PGP &1L 99° G341 6Q<

Candidate Answer: 4) Weak acid and strong base
QaR ZIde 9e° 839191 694

Techofworld.In

QID : 743 - When does menopause occur in females?

AR FIUEAQ 6F6RIYS 6R6Q Q667
Options:

1) When puberty Starts

QUAR ¢ 99

2) When ovaries shrink

6469 Qa0 AFTe 99

3) When menstruation starts in women
AERIER AR 66 AITR FIQ 2R §9

4) When egg cells are not released by ovaries
6969 @9 6Q18 37192 QIR 9IS g9 Q1@

Correct Answer: 4) When egg cells are not released by ovaries
646 B9R 6R1T 2190 FIRI 90 29 AIF

Candidate Answer: 3) When menstruation starts in women
AZRIEQ FIER 669 CITR IR 2R 99

QID : 744 - Which of the following is used in the manufacturing of Magnets?

CHISERS GUR KRR F¢) REIT Qe §9?
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Options:

1) Zinc

<@gl

2) Copper
2l

3) Iron

el

4) Aluminium
g IQAFae

Correct Answer: 3) lIron

pel

Candidate Answer: 1) Zinc

Techofworld.

QID : 745 - Chemical name of White Vitriolis

FRG HTBAR AAVGR QI |
Options:

1) Copper Sulphate Pentahydrate
U AIWETS 6dQLINEES

2) Zinc Sulphate Pentahydrate
@ ARETS 69Q)L 68

3) Zinc Sulphate Heptahydrate
@ ARETE 62UIIRALINEET

4) Copper Sulphate Trihydrate
QU LINETS FIATINEET

Correct Answer: 3) Zinc Sulphate Heptahydrate
@ ARCTE 62UISIALINEGT

Candidate Answer: 4) Copper Sulphate Trihydrate
@UQ WINETS QINLIRNEET

QID : 746 - Which of the following is a diatomic element?
I. Oxygen

II. Sulphur

[ll. Argon

IV. Chlorine

{9 94T QIVSNF AQUKIR?
l. 2geeq

. YRR

1. 2ligie

V. 65108

Join Us-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:

1) land IV

[ e IV

2) Only Il
6w Il

3) 1L, 1Iand Il
I, 11<aQ° 11l
4)1, Il and IV
l, 119Q° IV

Correct Answer: 1) land IV
[ Qe IV

Candidate Answer: 2) Only llI

Techofworld.In

QID : 747 - Which organ of the human body releases Insulin hormone?

AIRQ 6920 @R UF AAYRA QAR FBARE R6Q?

Options:

1) Liver

999

2) Small Intestine
9919

3) Thyroid Gland
2AIRQEAS QR

4) Pancreas
28|61k

Correct Answer: 4) Pancreas
28] 61k

Candidate Answer: 4) Pancreas
28] €I

QID : 748 - Because of , tail of a comet points away from the Sun.

Q R0, YFIERGTR RIS 94 0l §R6R 2|
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Options:

1) gravitational force of earth
Q2e1e ARIeda 63

2) Solar heating

6dla Q19

3) Sun’s magnetic pressure
geda 69191 1T

4) Sun’s radiation pressure
geda ARad QIa

Correct Answer: 4) Sun’s radiation pressure
geda ARad QIa

Candidate Answer: 1) gravitational force of earth

TechoﬁNoHd

QID : 749 - A boat rises up as it enters sea from a river because

QG 65181 941 0IQ AFEYA Y626HQ QAI62 A QTSR RE0ER RIQE!

Options:

1) sea water is softer than river water

QAQ1Q AIGQ 0IQ AFELR A& QA

2) density of sea water is higher than river water
Q910 FERA OIF AFELR ARG ARG 624

3) sea water is harder than river water

AQ1Q difia 0IQ AR Al 99

4) density of river water is higher than sea water
QA UG AFQ A9 DEQ 0IQ 6948

Correct Answer: 2) density of sea water is higher than river water
QQ1Q F6RA CIF AR AIFA ARG 624

Candidate Answer: 3) sea water is harder than river water
Q1Q UG OIQ AR IS 99

QID : 750 - In which organism, does double fertilisation occurs?

60Q 9199, 297 AYTITARCHAR ) 38 997?
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Options:

1) Human Beings
8

2) Reptiles
QARIQC

3) Angiosperms
NRFGQIC

4) Gymnosperms

@lafyallolla

Correct Answer: 3) Angiosperms
NERBQIE

Candidate Answer: 3) Angiosperms
NRREIIA

o el s srsn- il wnll
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